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1. BEEBOL
(1) #FEINEE
HARBEERLE 49,000,000 1|[ 47,000,000 1|[ 2,000,000 ]
BEARBEZIWEREYE 49,000,000 47,000,000 2,000,000
BEEEERTE 70,000,000 1 [ 78,000,000 ] [[ A 8,000,000 ]
BEEESIELE 3,000,000 3,000,000 0
BEEEZIFR 67,000,000 75,000,000 A 8,000,000
MU S 40,000 ][ 40,000 ][ 0]
MULEE 20,000 20,000 0
SZHF R 20,000 20,000 0
BEEUNEEET 119,040,000 125,040,000 A 6,000,000
(2) EEEHR
FBxE 134,096,000 1 |[ 136,020,000 ][ A 1,924,000 ]
BARERRE 16,050,000 13,950,000 2,100,000
FMTAREIRE 25,000,000 25,000,000 0
BELEXE 5,000,000 5,000,000 0
BHEERERFEE 19,000,000 16,000,000 3,000,000
1% B EREN 11,600,000 12,100,000 A 500,000
WHFL 19,000,000 22,000,000 A 3,000,000
BREAHER 1,256,000 2,180,000 A 924,000
ERELE 5,070,000 5,510,000 A 440,000
=& 800,000 800,000 0
REXEE 1,800,000 2,300,000 A 500,000
BIEERE 1,300,000 1,100,000 200,000
RENE 14,500,000 14,500,000 0
HEMNSRERE 1,000,000 1,200,000 A 200,000
BrEe 1,000,000 1,200,000 A 200,000
RIS AR E 2,000,000 2,000,000 0
FeE K H & 2,200,000 2,880,000 A 680,000
EBERRE 1,100,000 1,500,000 A 400,000
EEH 400,000 400,000 0
RigH 1,020,000 900,000 120,000
AR ER 2,000,000 2,000,000 0
BREE 1,000,000 1,000,000 0
HE 2,000,000 2,500,000 A 500,000
BREERE 134,096,000 136,020,000 A 1,924,000
LR IR EEE A 15,056,000 A 10,980,000 A 4,076,000
2. FEIMEROER
(1) BEH I
BREMINEEET 0 0 0
(2) BENER
BEENERE 0 0 0
LHRRRE SV IR HEE 0 0 0
0 HA — A0 TF Gk BA EE 1 g 4A A 15,056,000 A 10,980,000 A 4,076,000
—IRERMESRERS 3,620,640,000 3,951,570,000 A 330,930,000
— IR IERBM EARKS 3,605,584,000 3,940,590,000 A 335,006,000
I 15 IELREABEIE R D ER
L HA4E 7E 1E LR BA BE TS B2 0 0 0
EEEKRMESRERS 246,830,000 334,900,000 A 88,070,000
EEEKRMERARKS 246,830,000 334,900,000 A 88,070,000
I EREAEHIRES 3,852,414,000 4,275,490,000 A 423,076,000
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1. BEEBBOE
(1) FEUNEE
HEAKRAEERLT 30,000,000 ] [[ 29,000,000 1 {[ 1,000,000 ]
EARUFEZME LS 30,000,000 29,000,000 1,000,000
MU AT 170,000 1|[ 170,000 1 ([ 0]
UL AR 150,000 150,000 0
SZEF R 20,000 20,000 0
BRI ET 30,170,000 29,170,000 1,000,000
(2) REER
EEE 27,824,000 1|[ 30,110,000 ] [[ A 2,286,000 ]
% EEREN 9,300,000 9,500,000 A 200,000
WHEFH 4,200,000 5,000,000 A\ 800,000
IRESHG 1T E A 234,000 440,000 A 206,000
=IELEE 1,430,000 1,550,000 A 120,000
=& 1,500,000 1,500,000 0
WREXBE 1,500,000 2,000,000 A 500,000
BIEEME 150,000 150,000 0
I EENE 2,000,000 2,200,000 A 200,000
HEARERE 200,000 200,000 0
BiEs 1,000,000 1,200,000 A 200,000
SEBIK K E 350,000 430,000 A 80,000
E ST 1,500,000 1,500,000 0
EEM 500,000 500,000 0
REg# 160,000 140,000 20,000
FHfFR AR 300,000 300,000 0
BREE 1,000,000 1,000,000 0
e 2,500,000 2,500,000 0
BEERE 27,824,000 30,110,000 A 2,286,000
LR EIEEEE 2,346,000 A 940,000 3,286,000
2. FENMEBOE
(1) BEMNINEE
BEsIRIEET 0 0 0
(2) BENER
BENERE 0 0 0
LR E s R 0 0 0
2L HA— A% TF Ik BA EE 1R AE 2,346,000 A 940,000 3,286,000
—RERBEHEERS 60,310,000 53,440,000 6,870,000
— kB SRR S 62,656,000 52,500,000 10,156,000
I $5FEIEREAEEIZRDER
L HATE E E LR BA EE KR IRAE 0 0 0
EEEKRMEHERS 0 0 0
IEEEKRM EHRES 0 0 0
I ERBIEHRES 62,656,000 52,500,000 10,156,000




